V N/
LA‘L \\Vl/s®

INSTALLATION INSTRUCTIONS

0058E SafeGuard® Security Latch with Electronic Flush Strike

User must supply hardware to mount:
o Strike Plate: (4) 1/4" screws
 Llatch: (4) 1/4" flat head screws

e Latch Cover: (4) 1/4" screws with T27 type tamper-resistant
torx drive

Note: Retrofit kit available for through bolting when no structure
exists in the door or jamb to securely attach components.

Note: The 0058 Latch requires one of the following Inside Releases:
0481C, 0481SC, 0482C, 0486C, 0487C, 0488C, 0489C

INGRESS/EGRESS

Users inside the enclosure always have a free exit. In the case of
a power outage to the latch/strike, the strike is set at factory as
Fail Safe, leaving the door unlocked from the outside. This leaves
emergency access into the enclosure from the outside.

To maintain a locked door in a power outage, the strike must be
set to Fail Secure.

STEP 1

Part Number: T0058E*

Fail Safe Operation

o} {® el _lo

—1  Selector Stop
Pin Location

* Install 0058E latch on spacer plate and mount to door making
sure it is flush with the edge of the door.

STEP 2

ST INSTALL KASON ISR PER ITS
INSTRUCTIONS .

* Center strike plate on 0058E latch
* Mark center of 4 slots

* Install (4) 1/4" mounting screws (not included)
Note: Do not fully tighten screws in slots and adjust plate
to approx. 1-3/16" for initial setup (Step 1)

Note: Click here for detailed electronic strike installation
instructions.

SLOTS

EXTRA HOLES
(6) TYP

STRIKE PLATE

© 2024 Kason Industries, Inc.  1S-0058E 1023

kasonind.com | 1.800.935.2766 | PAGE 1 of 3


http://ww.kasonind.com/
https://www.hesinnovations.com/content/dam/assa-abloy/americas/ems/hes/document/AADSS1053638.pdf

V N/
LA‘L \\Vl/s®

INSTALLATION INSTRUCTIONS

0058E SafeGuard® Security Latch with Electronic Flush Strike

STEP 3

Part Number: T0058E*

Use Assa Abloy 9600 Electric Strike installation directions
included to install electric strike on top cover

Once electric strike is installed on top cover, install top cover
on base plate and verify strike, latch tongue fitup. Adjust as
necessary (leave strike cover off for this step)

Temporarily attach top cover assembly to the strike plate and
check fit and function with latch tongue (extra holes can be
used to lock position of base plate)

Install insert and place cover in place as shown (Step 6)
— Check for proper fit of cover around edges of strike

- Adjust the strike closer or farther from latch to ensure most
tamper resistant installation

Tighten all (4) screws in slots

Note: Click here for detailed electronic strike installation
instructions.

STEP 4

ELECTRIC STRIKE
(SHOWN WITH STRIKE
COVER)

“.

EXTRUDED HOLES

Assemble electric strike cover and anti-pick plate to electric strike

and attach using longer #6-32 x 3 /8" screws provided.

Note: Click here for detailed electronic strike installation

instructions.

STEP 5

#6-32 X 3/8"
/SCREW

ANTI-PICK PLATE

Install HID card reader to top cover assembly
Note: Non-Kason HID card readers may be purchased
separately and installed

Wire card reader and electric strike per mfg. requirements

Mount assembly to base plate with (4) 1/4-20 x 3/8"
security screws (use T27 wrench to install)

Verify strike, tongue fitup before tightening screws

Note: Click here for detailed electronic strike installation

instructions.

HID CARD READER

SCRENS—"

COVER ASSEMBLY

BASE PLATE

© 2024 Kason Industries, Inc.  1S-0058E 1023

kasonind.com | 1.800.935.2766 | PAGE 2 of 3


http://ww.kasonind.com/
https://www.hesinnovations.com/content/dam/assa-abloy/americas/ems/hes/document/AADSS1053638.pdf
https://www.hesinnovations.com/content/dam/assa-abloy/americas/ems/hes/document/AADSS1053638.pdf
https://www.hesinnovations.com/content/dam/assa-abloy/americas/ems/hes/document/AADSS1053638.pdf

4 N 70N\
LA‘k \\Vl/s@ INSTALLATION INSTRUCTIONS

0058E SafeGuard® Security Latch with Electronic Flush Strike
Part Number: T0058E*

STEP 6

¢ Install insert into installed latch space (as shown)

¢ Install latch cover and secure to the door using tamper
resistant screws (not provided)

LATCH COVER

INSERT

—9‘67 1/16 REF

(1.6)
LATCH SPACER

STEP 7

¢ Check for proper function of latch, door, lock, and inside release

¢ Install safety decal

© 2024 Kason Industries, Inc.  1S-0058E 1023 kasonind.com | 1.800.935.2766 | PAGE 3 of 3


http://ww.kasonind.com/

